f,wm.' Sum=Z 30,000 |, ML =3 Yeaks , Mirest = :;&L'/'_Fa' o -
o]ind: 1) sum ok M end of 8econd ok, Gy Sum at
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Solukon: 1) Indreat duwsang Jivsk year = 30,000 x) x 15 [T =pxTx

3 dse e ' (o

=F¥I250 100 x 2
Sum ofien  Jirse YOA = Z000 + @250 = T 32,250 (=r+T]

Now fvrest du}u'nj seond Woh = 39,250 x1 X 15 = A€35
= & W41€.35 10D % 4

S 8um Qten WO (ROAA = 32950 + @418.75 = & 3466835

(i) hirest dusicng Hhd Yeor = 3466835 xix15 = $3205
100 % 2. 32

= F 2600 16
Sum _ayter 4hree OIS = 34668 . 75 + 2600+ = & 37,2689
(1) Joeat Irwest easned in 3 oA = Sum often 3By -
wigimal sum = F 37 268.91 — 20,000 = ¥ 3F268-9l-

Arawen . Henw volMes Jor (1) & 3466875 , (i) ¥ 37,068
ond () F 7268.9
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Sol. Investment made by Mr Patel (P)

= Rs. 80000
Rate (R) = 10% pa
Period = 2 years
PRT
~ Interest for the fIrst year = Too
80000 10x 1
= Rs, 100 :' Rs. 8OO0

. Amount after first year = Rs, 80000 + 8000
= Rs. 88000
Principal for the second year = Rs. 88000
Interest for the second year

88000 10= |
Rs. T
.. Amount afier second year = 83000 + ER00
= Rs. 96800
» Interest for 2 year = 96800 — 80000
= Rs, 16800
Invesiment made by Ms Kapoor
= Rs, 100000
Rate (R) = 8%
Period = 3 years

= Rs. BBOO

PRT
Interest for the first year = Too

. 100000 Bx|
100

Amount after first year = 100000 + 8000

= Rs, 108000

or Principal for the second ycar

= Rs. 108000

¢+ 108000 x8x 1

Interest for the secand year = _ﬁiﬁLL
= Rs. 8640 . '

<+ Amount afer second year = Rs, 108000 +
; 2
8640 = Rs. 116640

or principal for the third year = Rs. 1165640

116640% Bx 1

Interest for the third year = ™

= Rs, 9331.20

~ Amount after third year = Rs, 116640 +
9331.20 = Rs. 125971.20

.~ Interest for 3 years = Rs, 12597120 -
00000.00 = 25971.20
It is clear that Ms Kapoor will get mare
Interael = R 25971.20



Sol. Investment by a man () = Rs. 30,000
Period = 2 years
Rate = 7.5% p.a. for first year and .
8% for the second year question
Interest for the first year = PR 9

~ 30000x15x1
© 1002

. Amount after first year = P + Int.
= Rs. 30000 + 2250 = Rs. 32250

or principal for the second year = Rs. 32250
Rate = 8%

= Rs. 2250

32250x 8x 1
. Interest for the second year = 00
= Rs. 2580

. Amount after second ycar = Rs. 32250 + '
2580 = Rs. 34830



Investment by a man = Rs. 40000
Period = 3 years
Rate for the first iwo years = 8% p.a.

question numper.10a

and for third year = 10%

PRT

Interest for the first year = 100

4 ]
= Rs, 2000x8x1 _ o¢ 3200

100
Amount after first year = P+ Int.
= Rs. 40000 + 3200 = Rs, 43200

or Principal for the second year = Rs. 43200

43200x8x]
100

Interest for the second year =

= Rs. 3456

- Amount after second year = Rs. 43200 +
3456 = Rs. 46656

or principal for the third year = Rs. 46656

46065
. Interest for the third year = —— ox10x]
100
466560

- Amount after third year
= Rs. 46656 + 4665.60 = Rs. 51321.60
Total interest for 3 years = A - P

= Rs. 51321.60 — 40000 = Rs. 11321.60



Given: 4 man fruetted Rs.uo,000 for Ebleq.’u& at
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